SX-7

2003 3 12
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= FORTRAN90/SX
0 FORTRAN90/SX

[]

0
0 OpenMP

m C++/SX
s MPI/SX
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FORTRAN90/SX
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FORTRAN90/SX

Fortran95
ISO JIS Fortran
Fortran95
FORTRANT77/SX (
8
_J
OpenMP
APl
~ J
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FORTRANO90/SX: / (1)
- SX HW

0 DO

e efcC.
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FORTRAN9O0/SX: @

Dooé:f—’er a(1:N,1:1000) = b(1:N,1:1000) * c(1:N,1:1000)
A(LI)=A(1,3)+B(1,3*C(1,9) b(1:N,1:1000) = sin(c(1:N,1:1000))
ENDDO {}
ENDDO o=, G008

U / / doi=1,N

a(i,j) = b(i,j) * c(i,j)
IF(M*N.GT.1000) THEN b(i,j) = sin(c(i,j))
DO J=LM end do
DO I=1,N
A(L)=A(1,3)+B(1,J)*C(1,) end do
ENDDO / /
ENDDO o @
ELSE ~ |doil=1,500 !
DO J=1,M doi2=1, N
DO I=1,N a(i2,il*2-1) = b(i2,i1*2-1)*c(i2,i1*2-1)
A(L,9)=A(1,9)+B(1,9)*C(1,J) a(i2,i1*2) = b(i2,i1*2)*c(i2,i1*2)
ENDDO b(i2,i1*2-1) = sin(c(i2,i1*2-1))
SNCIDIS b(i2,i1%2) = sin(c(i2,i1*2))
END IF
end do
——— |lend do
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f90 Sxf90

f90 [ |
sxfo0 | |

A Fortran
.fo0 Fortran

O O o o

NEC



-C

-C {hopt | vopt | vsafe | sopt | ssafe | debug}

f90 -C hopt sample.f
_pi
: 90 -pi sample.f
-P:
f90 -P auto sample.f
-R[012345]
f90 -R5 sample.f
-Wi
f90 -Wf"-pvctl fullmsg” sample.f
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(2)

(3)

¥

NEC
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(proginf)

SX

50
50% -

50

40

30

20

10

20

100%

40

60

80

100

NEC
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proginf

ftrace
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(PROGINF)

setenv F_PROGINF YES DETAIL

*kkkkk *kkkkk

( ) : 6.774000

() : 4.911325

() : 0.230647

( ) : 4.846089

380150140.

205713526.

52468073111.

: 14758745137 .

MOPS : 10718.595612
MFLOPS 3005.043295

!

l

(VB) : 1820.031250
MIPS : 77.402761

() : 0.014333
( ): 0.010467
() 0.244283 5
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ftrace

""""""""""""" % fO90 -ftrace test.f90

% a.out
A e e e e *
% Ftrace
Execution : Mon Dec 16 15:36:40 2002 1
Total CPU : 0:00"07"732 EXCLUSIVE TIME
proginf
A
J/ - N
PROG.UNIT FREQUENCY EXCLUSIVE AVER.TIME  MOPS MFLOPS V.OP AVER. VECTOR I-CACHE O-CACHE BANK
TIME[sec]( % ) [msec] RATIO V.LEN TIME  MISS MISS CONF
sub01 26 6.688( 86.5) 257.212 6602.2 2593.9 98.64 216.3 6.661 0.0000 0.0116 0.0323
main_ 1 1.006( 13.0) 1005.635 682.1 83.8 44.44 250.1 0.043 0.0004 0.0003 0.0000
sub02 26 0.039( 0.5) 1.500 3414.6 1332.6 97.52 203.0 0.026 0.0000 0.0099 0.0000
total 53 7.732(100.0) 145.890 5816.2 2261.1 97.81 216.5 6.730 0.0005 0.0218 0.0323
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ICDIR

e VECTOR/NOVECTOR
e NODEP
e L OOPCHG/NOLOOPCHG

NEC
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DO I=1, N
ACIX(1) ) = ACIX(1) ) + B(l)
END DO

-Wf“-pvctl fullmsg”

f90: vec(1): test.f, line 5:
f90: opt(1036): test.f, line 6:

(nosync/nodep )
FO0:vec(22): test.f, line 6: a
@
ICDIR NODEP IX(1)
DO I=1, N NODEP
ACIX(1)) = ACIX(1) ) + B(I)
END DO X1  9,3,2,4,1,5,7,10,8,.....

NEC
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_p|
DO I=1, N FUNCTION FUN(X, )
A(l) = FUN(B(I), C(1)) + D(I) FUN = SQRT(X) * Y
END DO END FUNCTION FUN

f90: vec(3): test.f, line 3:
f90: opt(1025): test.f, line 4.
f90: vec(10): test.f, line 4: fun

@ pi FUN

DO I=1, N
A(l) = SQRT(B(1)) * C(I) + D(I) }
END DO
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doj=1,100
doi=1,1000
a(l,j) = b(i,J) + c(i,))
enddo
enddo

-Pauto

CPUO CPU1 CPU2 CPU3

doj=1,25 do j = 26,50 doj=51,75 do j =76,100
doi=1,1000 doi=1,1000 doi=1,1000 doi=1,1000
a(i,j) = b(i,j) + c(i,)) a(i,j) = b(i,j) + c(i,) a(i,j) = b(i,j) + c(i,j) a(i,j) = b(i,j) + c(i))
enddo enddo enddo enddo
enddo enddo enddo enddo

NEC
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[ftrace

NEC
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PROGINF

*xxkx*k  Program Information (******

Real Time (sec) : 49.384518 QD)

User Time (sec) : 186.987137 )

Sys Time (sec) : 1.182086 (D)

Vector Time (sec) : 150.553135

Inst. Count : 5309765101.

V. Inst. Count : 3377473534

V. Element Count : 1418449397463.

FLOP Count : 575659440969.

MOPS : 7596.146515 MOPS

MFLOPS : 3078.604498 MFLOPS

MOPS  (concurrent)  : 29327 .554103 MOPS ( )
MFLOPS (concurrent)  : 11886.018758 MFLOPS ( )

VLEN : 419.973505

V. Op. Ratio (%) : 99.863960 )

Memory Size (MB) : 464 .000000 (MB)

Max Concurrent Proc. : 4.

Conc. Time(>= 1)(sec): 48.431645 1 )
Conc. Time(>= 2)(sec): 48.346999 2 )
Conc. Time(>= 3)(sec): 47 .825707 3 )
Conc. Time(>= 4)(sec): 42387946 4 )
Event Busy Count : 0.

Event Wait (sec) : 0.000000 (

Lock Busy Count : 0.

Lock Wait (sec) : 0.000000 (D)

Barrier Busy Count : 0.

Barrier Wait (sec) : 0.000000 (

MIPS : 28.396419 MIPS

MIPS (concurrent) : 109.634209 MIPS (

I-Cache (sec) : 0.162070 (

O-Cache (sec) : 0.744901

N ECBank (sec) : 0.170449



PROGINF

s Conc. Time(>=1)

Conc.
Conc.
Conc.
Conc.

m Conc.

Conc.
Conc.
Conc.
Conc.

Time(>= 1)(sec):
Time(>= 2)(sec):
Time(>= 3)(sec):
4)(sec):

Time(>c=

Time

Time(>=
Time(>=
Time(>=
Time(>c=

=

1)(sec):
2)(sec):
3)(sec):
4)(sec):

Conc. Time(>= )

74.154168
8.549322
8.292376
8.071275

69.503482
58.271920
33.497481
12.927761

NEC
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[]
-Wf”-pvctl fullmsg”
L]
No,
1033
1036
nodep/nosync
>
O = NOSYNC
0 =

NEC
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= NOSYNC

a(l,ki,)+1) a(l,k2,)

Klz 2 a(l,k1,j+1) a(l,k2,)
— nosync
lcdir nosync
doj=1,ny
doi=1, nx
a(l,k1,j+1) = a(i,<2,)) + b(i)
enddo
enddo

NEC
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OpenMP

NEC
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OpenMP

Web http://www.openmp.org/

s FORTRAN90/SX

[

-Popenmp
% ¥90 -Popenmp prog.fo0

API

NEC
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OpenMP

1SOMP [clause[[,]clause]...]
o “1$OMP”
N “*SOMP” “C$OMP”

i

{;;RALLEL/END PARALLEL

— Work-Sharing

DO/END DO

SINGLE/ZEND SINGLE
N

~

SECTIONS/SECTION/END SECTIONS

/

R111CALZ/END CRITICAL

C
} BARRIER
ATMIC

|

{;HREADPRIVATE

NEC
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OpenMP

ISOMP PARALLEL DEFAULT(PRIVATE) SHARED(field, ispectrum)
call initialize_field(field, ispectrum)
call compute_field(field, ispectrum)
call compute_spectrum(field, ispectrum)

ISOMP END PARALLEL

ISOMP DO —
doi=1, nzone
ispectrum(i) =0
enddo
I$SOMP END DO NOWAIT —
ISOMP DO —
doj =1, npoints
field(j) =0
enddo
I$SOMP END DO —
ISOMP SINGLE —
field(npoints/4) = 1.0
I$SOMP END SINGLE -
return
end

DO

NEC
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C++/SX

NEC



C++/SX

ISO/ANSI C++
- STL (Standard Template Library)

- (try catch, throw)
- RTTI (Run-Time Type Identification)

- “inline”
ISO/ANSI C
64bit 64bit
y,
OpenMP C/C++
. ) AP

NEC



C++/SX

for( 1=1; 1 < n-2; 1++ ){
for( j=0; j < 100; j++ ){
for( k=0; k < 100; k++ ){
) alilO1k] = bLid101IK]:
+
by

float a[100][100][100], b[100][100][100]

for( J=0; j < 1000; j++ ){
for( 1=0; 1 < 10; i1++ ){

}

b[i1[3] = 2.0 + a[1][1]1*3;

}

. B

. B

for( 1=0; 1 < n*10000-30000;

) a[11[01[1] = b[1][O][i];

1++){

for( 1=0; 1
for( j=0;
b[i]1[1]

10; i++ ){
< 1000; j++ ){

[\ A

2.0 + al1]13173;

NEC
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C++/SX:

O
ct+ | | ] ...
sxc++ | | ] ...
O

.C C
.C, .cpp, .cc,.cxx, .CXX C++

r

O

sxc++ -Chopt a.c b.c
O

Sxc++ -pi,auto a.c b.c
O

sxc++ -Pauto a.c b.c

-Caopt
-Chopt
-Cvopt
-Cvsafe

NEC
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MPI1/SX
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MPI1/SX
= MPI-2

[]
[]

0 C C++

0 MPI-2

e MPI-IO

Fortran

MPI-1

API

NEC
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MPI

include “mpif.h”
real A(10)
integer st(MPI1_STATUS SIZE)
integer rank
integer err
call MPI _Init(err) !
call MPI _Comm rank(MPI_COMM_WORLD,rank,err) 1
iIT (rank.eq.0) then
call MPI Send(A,4,MPI_REAL,1,123,MPI_COMM_WORLD,err)
else 1T (rank.eq.1l) then
call MPI Recv(A,4,MPI_REAL,0,123,MPI_COMM_WORLD,st,err)
endif
call MPI Finalize(err) !
end

0 MPI 1
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MPI

n MPI/SX

[]
[
[]
[

mpif90, mpic++ (
sxmpif90, sxmpic++ (
MPI MPI

sxmpif90 fsrc.fo0

MPI MPI
-l/usr/include ... -Impi (
-I/SX/usr/include ... -Impi (

sxf90 -1/SX/usr/include fsrc.fo0 -Impi

NEC
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MPI

= mpirun

[
e SPMD (Single-Program Multiple-Data)
mpirun | | | |
mpirun -np 8 a.out a.out 8
N
e MPMD (Multiple-Program Multiple-Data)
e SPMD MPI
mpirun | ] -f
run.conf
mpirun -f run.conf -p 4 -e /home/progA argl progA 4
-p 2 -e /home/progB arg2 arg3 | progB 2
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END

NEC
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